= AH O
N = 0 &8 AF S & Al A
2011E T 20a LEHgIH Fo=2X 0 ~ FUSX M
2 FUSX W
M. HASS MESE X (AISI2X /I =ME2 )
Sl FOIMETH (e dS)
_ _ boE ==
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
Fo=Exn 91,523,104 85,120,917 6,402,187
= 56,570,454
o= 7,586,706
=2 2,018,957
ml 780,506
Al 24,566,481
HASSES MEY TA(MIEX /I =MHELEE) 11,735, 101 11,505,903 229,198
= 7,748,987
< 669, 327
mi 310,920
Al 3,005,867
FOIMETA 11,735,101 11,505,903 229,198
= 7,748,987
o= 669,327
im] 310,920
Al 3,005,867
== DAPSELPNEC] 87,113 166,049 N78,936
101 Q1A H] 953 929 24
04 JIZtMI22XNHsE2 953 929 24
OMBHHI=2X 0| ol
5,200 *3%H x32U «33] 953
201 Lt AH| 26,400 25,200 1,200
01 AFR22(H] 26,400 25,200 1,200
O1.¢8t=2H]| 9,000
-SXNYHAA ULSH| 9,000,000 9,000
ORR=3-E=, 12,600
“XEEOAM HER/R AL
70,000 15 63| 6,300
XSSO ARRAS B
70,0002 x 15 x63] 6,300
O5. 2 &l 2,800
-SXNH =X OFA22X 24!
7,000 *4H «102 x 103 2,800
O6.d Xtz 2,000
-MHoll HIZSESX =sXE A Xt
500,000 *2CH*2 2,000
202 OdHl 18,000 20,160 A2,160
01 2o Y| 18,000 20, 160 A2,160
OSXNEH ALEX Y|
60,0008 x4 H x32 93| 6,480
OB22 AISIEXAIY SHMESA
60,000 x30H x2 3,600
OAMIEXNTHESRE HAEF
60,000 *30H x2 ! 3,600
O 2K EHAS X XA
60,0002 x2H *x32 123 4,320
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SN FUST D
HE: HASE MBON NA(MSSN/IIZMBEE)
CHl: ZEOIMETR (9l &2
_ _ _ Muo
SN FHH S (3H) - HREAY - BES Ofl Ak 04 il b o HRs2
203 2REZY| 10,000 10,000 0
03 AIBMFXNAHRFEH| 10,000 10,000 0
OFMETA AIMALSFEH 10,000,000 10,000
301 EtEN = 21,760 21,760 0
01 AISIEE A =03 10,000 10,000 0
SIAMR SERIZI 10,000,0002 10,000
10 dALAHIE &= 11,760 11,760 0
OXHABI=ZXIEOIH &0IX DI
60,0002 <282 1,680
ONBI=E s AL 218t
60,0003 x28H x6 10,080
307 gI2told 10,000 58,000 248,000
10 AEI= X2 0,000 58,000 48,000
OAaIZXI2l & At 10,000,000& 10,000
SSEXNEEMAMA(BZ) 29,552 0 29,552
= 14,790
& 4,435
Al 10,327
201 LetEI| 20,688 0 20,688
= 10,353
& 3,105
Al 7,230
01 Attt 20,688 0 20,683
O1.d8t=2H| 20,688
“AtellZeltiatt 29 2 22l 20,688,000& 20,688
= 10,353
= 3,105
Al 7,230
202 O4Hl 8,864 0 8,864
= 4,437
= 1,330
Al 3,097
01 =LA b 8,864 0 8,864
OAtdl2te] g2 =80 8,864,000& 8,864
= 4,437
= 1,330
Al 3,097
Lol SXAME2IG(BX) 23,827 14,380 9,447
= 16,679
& 7,148
307 212t01& 23,827 14,380 9,447
= 16,679
= 7,148
10 AtaIZ2XEx 23,827 14,380 9,447




SN EOIZXD
HE: HASE MBON NA(MSSN/IIZMBEE)
SH9l: EOIMEBXIR (Sl &)
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
ORI AL 2| 23,827,002 23,827
2 16,679
= 7,148
NEEDPTEC PP 1,075,831 1,049,232 26,599
) 280,118
Al 795,713
201 L2y 12,944 15,320 A2,376
01 AR eIt 12,944 15,320 A2,376
O1. L8| 8,800
L[ PS= b I TE= Y] 5,800,000 5,800
801 MHIASH Re ARl
10,0002 *300%2 3,000
03.294¢ 1,120
~FUAUIA GINRE AME
70,0002 +22 x2A| 244 3] 1,120
0522 3,024
~HEIAQH HRET ZA
7,000 +3% * 122 +123] 3,024
202 o1t 4,320 4,320 0
01 =2Uoibl 4,320 4,320 0
ONHIZQIH LET0IHI
60,0002 32 x42 x63] 4,320
301 LPBAI 37,920 31,200 6,720
) 4,500
Al 33,420
09 BoA2RLABAS 27,720 21,000 6,720
Ozo22e8 242(01Y)
5,00021 #2124 x222 #1204 27,720
D 4,500
Al 23,220
10 BAHAEI 242 10,200 10,200 0
ODIZE = NET-HORK ©1&H3| Ot
60,0002 +38% *22 4,560
OSHE =X DKOHl 60,0008 50 3,000
ONBISNEEMHI A2 D0t
60,0002+ 112 *43] 2,640
307 BI2HOI 1,020,647 997,463 23, 184
D 275,618
Al 745,029
05 DIZtSIEtS 984,907 91,723 23, 184
OB EAMEI =X B S4AL|
15,000, 000! %37} 45,000
OZEAMSI=XZ 22HI(012) 914,907,008 914,907
D 275,618
Al 639,289




SN
X XH .
S Tt

oLk

o= X
HASE Moy X
0| AH S

_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
OBUBEAMSIZNNZ 0IESSIX S 29
15,000,000 15,000
ORSZEAMSIST2 slYFLL 2|
10,000,000 10,000
10 AlEIZREE 35,740 35,740 0
OJIEZZSWI MBIE  100,0002+57 A+ 128 6,000
OJNEZCHWI X2
2,974,0002 «2CH *5IH 2 29,740
NEES I ES N=TEES 1,690,343 1,559,833 130,510
= 1,183,240
= 152,131
Al 354,972
307 2I2+0IH 1,690,343 1,559,833 130,510
= 1,183,240
= 152,131
Al 354,972
10 AtEIZXIE X 1,690,343 1,559,833 130,510
OXSAE MBIAS AR 1,690,343,0008! 1,690,343
=2 1,183,240
= 152,131
Al 354,972
NEDE 100, 161 97,241 2,920
I} 30,802
Al 69,359
201 Ygreg| 9, 140 7,740 1,400
01 AtR2elt] 9,140 7,740 1,400
O1.2er2gH| 4,800
N Ink=-TETRS=11] 4,800,0002 4,800
03.2%+9 1,540
SREIIZEOIM IR By
70,0002 112 %23l 1,540
O5.2 | 2,800
-NEDE YL A
7,00021 %424 x102 %103 2,800
202 01t 4,320 3,840 480
01 =2Uioib] 4,320 3,840 480
OREIE ASEFOY|
60,0002 *4% 32! 63| 4,320
301 LHBAI 10,200 14, 160 £3,960
10 SAFAHIAE 10,200 10,200 0
OREXEA AMA U I3 FA0H
60,0002 25 x23] 3,000
OREAY ZAR 23X DKL)
60,0002 602 x22 7,200
307 212+0IH 76,501 71,501 5,000




2N F0
M A
0o

ool

SN HE - SR(S) - HRAY - T

0z
Jo
=
2=
12
20
Rl
1240
=
£
Ol
0y

30,802
45,699

= K

10 AtRISXEX 76,501 71,501 5,000

15,000,000& 15,000

O
-
s
Jn
Ol
>
Imi
O
oin
>
I
=5
[>
M
Mo
02

20,000, 000& 20,000
OXHELZX NGSAH0IY) 41,501,000 41,501

30,802
10,699

= K

NEZ2MG(EX) 6,444,437 6,510,360 65,923
5,155,550

257,778
1,031,109

= H W

101 el A4l 3,294,437 0 3,294,437

2,635,550
131,778
527,109

= N W

04 JI2HA ,294,437 0 3,294,437

,294,437

,965,289

,635,550
131,778
197,961

-AHEE JI2RE=  2,965,289,000& «11. 1% 329,148

-2 2,965,289,000&

= HnH

206 M =dl 150,000 0 150,000
120,000

6,000
24,000

= HH

01 M=Hl 150,000 0 150,000
OgZ= A M=l S 150,000, 000& 150,000
120,000

6,000
24,000

= H W

307 2120l & 3,000,000 3,000,000 0
2,400,000
120,000
480,000

= H W

NEX 3,000,000 3,000,000 0
=

3,000,

o

00,000& 3,000,000
2,400,000
120,000
480,000

= HnH

N3N (BEx) 247,981 247,262 719
198,608
17,282
32,091

= HnH




SN
X XH .
S Tt

el

o1 = X ot
ASE MEBOH
0| AH S

(At&IZX1/01=

N - Z3 - S2(3AH) - MRA

L HSS

=1
B
121

= N W

247,981
198,608
17,282
32,091

247,262

719

247,981,000

= N W

247,981
247,981

198,608
17,282
32,091

247,262

719

= N W

519,897
363,932

54,586
101,379

402,536

117,361

307 2120l A

= HnH

519,897
363,932

54,586
101,379

402,536

117,361

10 At2ISXEX

X
OXYAx&dy 298 X (2004)

519,897,000&

= N W

519,897

519,897
363,932

54,586
101,379

402,536

117,361

= Hn W

176,547
124,168
20,647
31,732

193,321

A16,774

307 2120l &

= HnH

176,547
124,168
20,647
31,732

193,321

N16,774

176,547,000

=z HnH

176,547

176,547
124,168
20,647
31,732

193,321

N16,774

= M

4,000

1,200
2,800

8,000

A4,000

= M

4,000

1,200
2,800

8,000

A4,000

&

4,000,000&

= M

4,000

4,000

1,200
2,800

8,000

A4,000




2N F0
M A
0o

= MEIOIE X2 (AMZEX /I ZMESE)
el = =
=S

SN CR(EH) - NRAY - BES el

[
2
2
R
12
o
£l
0l%
IS

™
1
o
=
184
i
Ho

=N

[0

(Bx) 12,000 12,000 0

3,600
8,400

=z H

307 2120l & 12,000 12,000 0

3,600
8,400

= H

02 2ItAAE X 12,000 12,000 0
[o5]

12,000, 000& 12,000

3,600
8,400

=

HNASEE FHELMEMS (BX) 48,000 57,000 A9,000
14,400
33,600

=z H

307 12t0ld 48,000 57,000 29,000

14,400
33,600

=z H

10 MISXIEX 48,000 57,000 29,000
ASE FHASEMEAMY 48,000,000& 48,000

14,400
33,600

=

=HS0(E2)(EX) 350,000 350,000 0
280,000
24,500
45,500

= HnH

301 Let2a= 350,000 350,000 0
280,000
24,500
45,500

= H W

& 56l= 350,000 350,000 0

350,000,000 350,000
280,000
24,500
45,500

= HnH

>
tol
JA
0l0
[El
HU
IJ
s
Ho
02
He
>

HI X2 (

HT
)

32,486 37,540 A5,054
25,988
1,950
4,548

= HnH

307 2120l & 32,486 37,540 A5,054
25,988
1,950
4,548

= H W

22X 32,486 37,540 N5,054

22,700,000& 22,700
18,160

W




SN FRSTD
M HASS MBOE N (MIASX/IZMELRE)
CHol: FOIMEX| EERL
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
< 1,362
Al 3,178
OAMSIRST208 &0{ bl X
9,786,00094 9,786
= 7,828
= 568
Al 1,370
NAXEMEHBA RS (B E) 20, 160 19,200 960
< 6,048
Al 14,112
307 RI2HO0|H 20, 160 19,200 960
= 6,048
Al 14,112
10 ABISR2X 20,160 19,200 960
OXIRHEHEl SAR ¢ X
20, 160,000 20, 160
= 6,048
Al 14,112
NN =T EES) 48,000 0 48,000
= 4,800
Al 43,200
307 BI2HOIH 48,000 0 48,000
< 4,800
Al 43,200
10 ABI=XEX 48,000 0 48,000
OXISAIEI S B X8 48,000,000 48,000
= 4,800
Al 43,200
MBS X2 SEAY (2 X) 54,000 15,000 39,000
= 16,200
Al 37,800
307 BI2HOIH 54,000 15,000 39,000
= 16,200
Al 37,800
05 SI2telerz 54,000 15,000 39,000
OZE=N2 SeAY XY 54,000,008 54,000
= 16,200
Al 37,800
MEIZXIAE BAX 22 (BX) 66,240 57,120 9,120
= 19,872
Al 46,368
307 RI2HO|H 66,240 57,120 9,120
< 19,872
Al 46,368
10 ABI=SX2X 66,240 57,120 9,120
OAMBISTIAIE SAR = 66,240,0002! 66,240
= 19,872




SN ZEOI=T D
HE: HASE MBON NA(MSSN/IIZMBEE)
CHl: ZEOIMETR (sl &
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
[ Al 46,368
MISXNESEMUIANZRA XA (BX) 267,557 254,449 13,108
= 131,033
= 39,305
Al 97,219
101 14| 267,557 254,449 13,108
= 131,033
= 39,305
Al 97,219
04 JIZtHIZ2E2NHEE> 267,557 254,449 13,108
OMNESNSEAHA 228 267,557
ol 240,825,0002 240,825
= 131,033
= 39,305
Al 70,487
402 JI2RES 240,825,000 *11. 1% 26,732
HARHAUES KA 11,420 11,420 0
301 Yptsaazg 9,960 9,960 0
01 AlsIEE A =0l= 3,000 3,000 0
ORHALE /2 20,0003 x50 *33| 3,000
10 HALAHIZ &3 6,960 6,960 0
Odled Xt Aol 10,0002 x10¥ ~12& 1,200
OSZOIAIL 24 0HH(212t01)
60,0002 12« 128 720
OBAALT Foral o2
0,000 »2 2 +7 L+ 12 5,040
307 gI2told 1,460 1,460 0
NIEEEEET 1,460 1,460 0
OREsht sHes 30,000& *30H 900
OeEs FsUaXt =48 7,0003 40 24! 560
ZCOANS YUK (2 E) 106,800 106,800 0
= 4,320
Al 102,480
307 QI2+0I A 106,800 106,800 0
& 4,320
Al 102,480
10 AtI=XIEX 106,800 106,800 0
OFEntzzddl XA 106,800, 000& 106,800
= 4,320
Al 102,480
SYISER(EXE) 318,749 281,600 37,149
=2 254,999
& 19,125
Al 44,625




SN FUST D
HE: HASE MBON NA(MSSN/IIZMBEE)
Sl FUMBR R (9l &2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
301 YerEA3 318,749 281,600 37,149
= 254,999
= 19,125
Al 44,625
01 AISIEE X253 318,749 281,600 37,149
O8Y31 2 S F(1308) 318,749,000 318,749
= 254,999
= 19,125
Al 44,625
ZOIMERRA (NN I ZLERE) 52,245,663 50,884,948 1,360,715
= 41,418,963
= 3,646,138
Al 7,180,562
HASE JZMELE 52,245,663 50,884,948 1,360,715
= 41,418,963
= 3,646,138
Al 7,180,562
HASS JIZME SN2 73,540 63,540 10,000
201 LByl 11,380 11,380 0
01 Attt 11,380 1,380 0
O1.2er=gH| 4,800
MBS 2ABiagY| 4,800,0002 4,800
03.2g8+4 4,900
~MEPESINAE I BAag
70,0008 %102 73| 4,900
O5. 22| 1,680
~MEEE YRR A
L0002 *28 * 102 *123] 1,680
202 01t 2,160 2,160 0
NIETEEL 2,160 2,160 0
MERY AREF0fY|
60,0002 %23 +321 63| 2,160
301 YerEaa 60,000 50,000 10,000
01 ABIREE 253 60,000 50,000 10,000
OYPAUOIIE SAU BEXIIRS
60,000, 0002 60,000
HASE AYLEE NA(2ZE) 362,560 360,200 2,360
= 90,640
Al 271,920
301 LBBA 362,560 360,200 2,360
= 90,640
Al 271,920
NIEEEERE 362, 560 360,200 2,360
OMASE AY2EE 362,560,0002 362,560




SN
X XH .
S Tt

el

22
J2

20
B
2

= H

90,640
271,920

=z H

119,250

35,775
83,475

119,250

= H

119,250

35,775
83,475

119,250

AHlbl 119,250,000

= H

119,250
119,250

35,775
83,475

119,250

= H W

38,233,934
30,587,148
2,676,375
4,970,411

38,733,487

A499,553

= N W

38,233,934
30,587,148
2,676,375
4,970,411

38,733,487

A499,553

=2t dAHS0

38,233,934,000&

= H W

38,233,934

38,233,934
30,587,148
2,676,375
4,970,411

38,733,487

A499,553

= H W

9,320,258
7,456,206

652,418
1,211,634

8,806,844

513,414

= Hn W

9,320,258
7,456,206

652,418
1,211,634

8,806,844

513,414

23X FA3

9,320,258,000&

= H W

9,320,258

9,320,258
7,456,206

652,418
1,211,634

8,806,844

513,414

= H W

1,340,822
1,072,660
93,858
174,304

1,433,418

A92,596

= NN

1,340,822
1,072,660
93,858
174,304

1,433,418

A92,596
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A F=RSX L
Mu: FOMETIE (MR I EAEEE)
CHelr HASS JIZMERE (cHol a2
SN HB SR (BIH) - A - B S 0l &b S D=2
. cTo=m IO T ° - [EEMREECES &= O:H{ﬂ,% WS
01 AIsIEE " =0l= 1,340,822 1,433,418 A92,596
O=20=Mea2Z3Zt IE=SH
1,340,822,000& 1,340,822
= 1,072,660
= 93,858
Al 174,304
S=XNXJAAMH(EX) 844,288 622,785 221,503
= 675,430
L= 59,102
Al 109,756
301 EtBA = 844,288 622,785 221,503
= 675,430
= 59,102
Al 109,756
01 AIsIEE " 0l= 844,288 622,785 221,503
OZS=2X XA MY 844,288,000 844,288
= 675,430
= 59,102
Al 109,756
Aol WX A 215,000 215,000 0
301 LetB A= 215,000 215,000 0
01 AlRIEEE 5= 215,000 215,000 0
OAMge =X 250,000 =860 215,000
Iz XYa XA (EX) 1,193,535 0 1,193,535
= 1,193,535
301 et24 = 1,193,535 0 1,193,535
= 1,193,535
01 AlRIE2EEE 563 1,193,535 0 1,193,535
OJdlz== it 30l 1,193,535,000& 1,193,535
= 1,193,535
AL AHESEIE X (EX) 267,497 291,748 A24,251
= 213,999
= 18,723
Al 34,775
301 YptsEaazg 267,497 291,748 A24,251
= 213,999
& 18,723
Al 34,775
01 AISIEE R =03 267,497 291,748 A24,251
OX&RAAHNE L=0l 267,497,000& 267,497
= 213,999
= 18,723
Al 34,775
HMAEH=H(EX) 274,979 238,676 36,303
= 219,985
& 19,247




A N
EF S TN ESIE S
£ SISIE TR GO
X EH . CLO (5 HALO . HA D A} OH &EIE 5 =02
35,747
LEtB A= 274,979 36,303
= 219,985
= 19,247
Al 35,747
MBI EEH 0= 274,979 36,303
O=20|=de2H+c4 oS¢
274,979,000 274,979
= 219,985
& 19,247
Al 35,747
ZOHA=SXSE (MEISX/FHAHEXH) 22,738,000 4,530,714
= 7,402,504
L= 3,271,241
= 2,018,957
w 469,586
Al 9,575,712
S A JIsEZ 420,732 A1,708
= 122,711
= 67,341
Al 230,680
MEALI)ISEZ(EX) 86,746 86,746
= 43,373
= 13,010
Al 30,363
RItXtE01 M 86,746 86,746
= 43,373
& 13,010
Al 30,363
It t=E X 86,746 86,746
O&lI0t2 JIsEL(SHEIS AL 1)
86,746,000 * 14! 86,746
= 43,373
= 13,010
Al 30,363
NATMEANEISEL(BX) 226,586 A87,420
= 79,338
= 23,801
Al 123,447
It =01 & 226,586 226,586
= 79,338
& 23,801
Al 123,447
IZIXI2E X 226,586 226,586
OXMMEIE HHBA(ALAEEY 33
) 226,586,000& 14! 226,586
79,338

o

23,801

—_




S F
DHQA=XSH (ASZX/HAHSTR)
ZoHQI=T AL JlsE

X{ ZH -
S = -

el

9= X2t

Z

L RE-E

SRS - HRAY - B2

Ofl &4

20
B
2

Al

123,447

PNy
=]

OHOI XIS ALSI THEAIE THEXIR (EX)

= H

47,400

12,530
34,870

22,000

25,400

307 GI12t0ld

=

47,400

12,530
34,870

22,000

25,400

10 At2ISXEX

OANZZMHAMREME IHHXE(ZEXS 2 1
)(012F) 23,700,000& 20K

= H

47,400

47,400

12,530
34,870

22,000

25,400

=

60,000

18,000
42,000

60,000

402 2IZ2tt=0ld

= H

60,000

18,000
42,000

60,000

01 2t x

O
021
2
o
O
o
J
b
1]
0

ZUAE HRael 2

60,000, 0003 14

=

60,000

60,000

18,000
42,000

60,000

= R HL W

11,414,329
79,200
2,181,336
2,018,957
465,836
6,669,000

9,161,158

2,253,171

= H

28,851

8,656
20,195

22,720

6,131

307 2120l &

= H

28,851

8,656
20,195

22,720

6,131

28,851,000

=

28,851

28,851

8,656
20,195

22,720

6,131

= B

150,000
17,460
25,998

106,542

150,000

307 2120l &

B H

150,000

17,460
25,998

150,000

N
[




A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

ol HOHOI= XX & (etol & e
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Egﬁ HusZ
Al 106,542
IPNEEVEES 150,000 150,000 0
O+3EAUEHSY(01Y)
150,000, 000! 14 150,000
= 17,460
il 25,998
Al 106,542
Z0H oI = XX & 979,284 1,124,030 A 144,746
101 @1 24H] 30,200 0 30,200
04 JIZH2ERSES 30,200 0 30,200
OAILHOfOl OHH S HOHQI=XIAIE S20/A
(-olgxzl &) 30,200
-0l 2000002 x20% «7 2 28,000
-2 2 202 10,0008 20 2,200
201 Lere gl 50,524 32,700 17,824
01 At2z2l| 50,524 32,700 17,824
O1.getagH| 9,100
-HOHQIXIY MEFXTO OHYEXIB
200,000 * 1074 2,000
~ZOHOI EXIB M 80024 *2,0007H 1,600
-ZORQl SXIAIZ OHY MZ  2,000,000€ 2,000
-HOjIERCS BY BEA HME
2,000,0002 2,000
“HOHQUEH S AS #AL HHT M
30,0002 +5074 1,500
O5.2gHl 3,024
-HH YRR OFA22X SA
7,002 +3% 122 *123] 3,024
06. U X2 38,400
-HOHIEH ARA FAIS 38,400
TRIEFOHQIEE 200,0008 10§ 128 2,400
TAIZE - S0t 0l EEl
1,500, 0002 x20§ £ » 128 36,000
202 01l 5,400 5,040 360
01 =UHOiI 5,400 5,040 360
OFHOI=X PRET 04|
60,0002 x3 +32 103 5,400
301 LetEaa 56,660 39,960 16,700
01 AFBIE &= 2513 27,440 12,840 14,600
OFNAZXAE 92 13,440
~ZOHQIMEAIE (OF2I0SIE 9 8JHA)
20,0002 +200% *33| 12,000
-HHBSMEIIE (6HA)
20,0002 x24% x33] 1,440
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A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

chel: FOjeI= XX & (=CR-EY
SN HB SR (BIH) - A - B S 0l &b S D=2
OMASHOS MESHEI|F W
1,000,000 *14H 14,000
10 EAIAHIE A = 29,220 27,120 2,100
OEE? e & J1E4 &Il
60,000 80 4,800
OZOMAXNER =3 ZFIHoH|
60,0003 x4 x2 »7IH &Kl 3,360
OBITIZOI & JIEEA &II01H]
60,0003 x40 2,400
OZoel d=J1sEJItHal FIHoH|
60,0003 x10H x4 2,400
OFe =TI IsEJIHa &It
60,000 » 12 +32 2,160
ONMZS2NEHMO OtetEHa &40l
60,0003 35 2,100
OAN2ZEOel =3 HEgwns IO
60,0003 30 1,800
OANZEOI =3 S QIAXI AL &I I
0,000& *15% 900
Os0tel =t H U2 &0
60,000& 15 900
OFOfel QIEUZMIE X HLIHDS I
] 60,0003 x15% 900
OXNAE 2 XH4A HoHel d=2220H3 & 0=
CHal &otoddl 60,0003 x 15 2 1,800
OXNE 2 NH4A Z0He HEBZ FHIH0HI
60,000& x40 2,400
OO HM L& - SAL HES IO Y]
60,000& x25& 1,500
OMI20Xt OFAIOFKIE ZOHQICHRl &IH0dHI
60,0003 30 1,800
307 S12t01& 776,500 634,900 141,600
05 2IRIRAES 30,000 30,000 0
ORfOISH=ZXZ OE2272 2
10,000,000 *3CH 30,000
10 At2ISXEX 746,500 604,900 141,600
RONOl MBAIE STLhEH KR (Hel @ |
IAIA) 1,500,000 1170 2 16,500
OZA=XAA 2SI 25,000,000& +2CH 50,000
OXNEEMA=XES XHSE2SB
500,000& *1CH*12& 6,000
O=s0telgs eE=2d 500, 000& »2CH x 12& 12,000
O=sHMe =50 24 25,000,000& 25,000
OFSHALS) Hojpae M
8,400, 000& 63| 50,400
OZOHIe & I8 L kB H (A& AL)
20,000,000& 20,000
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A FUSX
HE: HUASXSH(ASISX/HLAHESXR)

Sl FOjOI= XX & (Sl #)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz
OZOHOIFAME 2% 35,000,000 1742 35,000
OF 04Ol YX2IAre} (212, 28 2)
310, 0002 * 1002 7 217,000
OMASHMY FALSAL 0188 X
50, 00021 *45% * 122 27,000
OO HAMBAIL 2]
1,050,000 +274 A +12% 25,200
ONFAAT BIE 22t X
1,200,000 * 128 14,400
OFOHsr4 O3IHI0I 2% 16,500,0002 +23] 33,000
OZNQISH AR S XY
500, 0002 50 £ 3 122 30,000
OMSHOjO! NS48 2% 40,000,008 40,000
OMAS FOHQIFES FHBAWLAMY X
3,800,0002 * 107} 38,000
OFAZOHL U IIE S 4+3DA 2
1,000, 000! 1,000
OXIMZOHY ABIEHDS 15,000,002 15,000
OZZZ0je PE45H 2&I| DA
500, 00021 *22CH 1,000
OG&TOlL NADF(EMA SH) 29
15,000,002 15,000
OZNINE S2Y 2|
55,000,000 * 17 4 55,000
401 AIZHIL 2O 50,000 411,430 A361,430
01 Al 50,000 408,420 358,420
OSHIS BA HOHQUHIAL =5
50,000,002 * 14! 50,000
405 THAHE St 10,000 0 10,000
01 RMUSEHSH| 10,000 0 10,000
OZZHATH, SUS S) ZOABASE 3
o 10,000, 000! 10,000
ZOjIZXAIE BAX 2 (2E) 429,302 270,720 158,602
= 121,162
Al 308, 160
307 BI2HOI 429,322 270,720 158,602
= 121,162
Al 308, 160
EENEES 429,302 270,720 158,602
OZMWOIZIAL BAX £Z  429,322,0002 429,302
= 121,162
Al 308, 160
ZOjIMBAE 2Y(2E) 4,692,420 3,129,000 1,563,420
= 640,695
= 1,966,569
Al 2,085, 156

|
3
|




SN
L BOHQIZXSE (AEZX/HAANETR)
£l

X ZH
o=

==X

O =XX&

SN CR(EH) - NRAY - BES

22

OH

-/

20
B
2

307 2I2tol &

= HL N

4,692,420

640,695
1,966,569
2,085,156

3,129,000

4,662,000,000&

50,000 234 &

OZOHIMEA LA A FZHl X

50,000 234

I

OO HEAIZ AT A2 H &
15

,000& »234H

SAH R
15,0002 *234%

= M =M = Hmn = Al 1

=

4,692,420
4,662,000

631,761
1,966,569
2,063,670

11,700

3,510
8,190

11,700

3,242
8,458

3,510

1,091
2,419

3,510

1,091
2,419

3,129,000

KM Zofer e

|0

IAE AGXA(EX)

= H

99,000

24,000
75,000

99,000

307 2120l &

= H

99,000

24,000
75,000

99,000

10 MaISXIEX

OXNMEOHAEAAIL &S XS 99,000,000

= H

99,000

99,000

24,000
75,000

99,000

=

135,000

37,500
97,500

135,000

307 2120l &

= H

135,000

37,500
97,500

135,000

NEXNEHH 29

135,000,000&

=

135,000

135,000

37,500
97,500

135,000

H

180,000
54,000

180,000




SN
X XH .
S Tt

el

==X
ZHA=ZXNEST (A EXN/HLASIIE)
O =XX&

SNBSS - MEAY - BES

20
B
2

Al

126,000

307 2120l &

=z H

180,000

54,000
126,000

180,000

180,000,000

=

180,000

180,000

54,000
126,000

180,000

= AL N

,082,880

164, 188
52,388
866,304

782,836

300,044

307 2120l &

= ML N

,082,880

164,188
52,388
866,304

782,836

300,044

10 MaISXEX
OZOMHAXMATHE AL 2 (012F)

1,082,880,000&

= AL N

,082,880

,082,880

164, 188
52,388
866,304

782,836

300,044

Ol MIot= K S AL

H0
02
HL
FA

= BN

90,000
18,000
46,723
25,277

90,000

307 &l

|’D
|'U

OIS

=R

90,000
18,000
46,723
25,277

90,000

10 MaISXIEX

OZOHR THIIS X SAHE 29 (01)
90,000, 000&

= KN

90,000

90,000
18,000
46,723
25,277

90,000

04
==
o
M
=
HL
fol
=
nx
Ho
02
HT
P

= B

416,430
96,905
18,400

301,125

416,430

307 QI12t0lH

=R

416,430
96,905
18,400

301,125

416,430

OFe =UESAE 22 (01Y)

83,286,000 «57H 2~

416,430

416,430

416,430




=X

D HMWSXES(AMSISX/HSEAHSKR)

SRS RIE DDA L2

_ _ _ N E
SA - EE L SR(E) - MRAY - HAS Aboy G
& 96,905
mi 18,400
Al 301,125
HOHOIHIBSAIE SH(EX) 210,142 210,142
& 65,000
i 26,150
Al 118,992
307 212t01& 210,142 210,142
& 65,000
w 26,150
Al 118,992
10 AlRISXEX 210,142 210,142
OFOC HINESAIE 2H(01Y)
105,071,000 24 & 210,142
= 65,000
mi 26,150
Al 118,992
F=SHEIER2Y(EX) 252,000 252,000
& 57,960
im) 40,000
Al 154,040
307 212t01& 252,000 252,000
& 57,960
w 40,000
Al 154,040
10 AlRISXEX 252,000 252,000
OZFMel SSMEIE 2H(01)
42,000,000 *6IH 2~ 252,000
& 57,960
im 40,000
Al 154,040
ZOHIAREHNEH 2Y(BX) 310,000 310,000
& 62,010
im 36,565
Al 211,425
307 212t01& 310,000 310,000
& 62,010
w 36,565
Al 211,425
10 AlRISXEX 310,000 310,000
OFfe MAFEHEH 2Z(01Y)
310,000, 000& 310,000
& 62,010
im 36,565
Al 211,425
Jojel s =2 2H(BEx) 850,000 850,000
& 35,000
iml 272,000

_20_




SN
X XH .
S Tt

el

==X

ZHA=ZXNEST (A EXN/HLASIIE)

O =XX&

SNBSS - MEAY - BES

[
2

20
B
2

543,000

307 ¢!

e
v

OIS

= B

850,000

35,000
272,000
543,000

850,000

05

=
s
40
o Jm

O
0
2

850,000,000

=R

850,000

850,000

35,000
272,000
543,000

850,000

0
J
0
>
H
x
=]
£0)
02
H
Pl

= H

260,000

78,000
182,000

200,000

60,000

307 2120l &

=

260,000

78,000
182,000

200,000

60,000

260,000,000&

= H

260,000
260,000

78,000
182,000

200,000

60,000

= H

50,000

7,500
42,500

50,000

307 QI12t0l &

=

50,000

7,500
42,500

50,000

OGS ZHOQIDIAIS 0] THAAI(012)

50,000,000&

= H

50,000

50,000

7,500
42,500

50,000

=

100,000

25,000
75,000

101,500

21,500

307 2120l &

= H

100,000

25,000
75,000

101,500

A 1,500

10 AtRISXEX

OXIHZ 04l

100,000, 000&

=

100,000

100,000

25,000
75,000

101,500

A 1,500

H
=
J3
04
2
e
I
bl
=]

= H

800,000

560,000
240,000

571,000

229,000
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SN
X{ ZH -
S Tt

=EaE

==X
ZHA=ZXNEST (A EXN/HLASIIE)
O =XX&

L RE-E

- SHRI(BIAH) - NRALS -

HeS

rz
J2

20
B
2

307 2I2tol &

=z H

800,000

560,000
240,000

571,000

229,000

05 DIt
A

800,000,000&

=z H

800,000

800,000

560,000
240,000

571,000

229,000

OIS At 22l AL (2 X)

=

30,000

7,500
22,500

25,000

5,000

307 2120l &

= M

30,000

7,500
22,500

25,000

5,000

OZOHIIFS Ateil 22l At

30,000,000&

=z H

30,000

30,000

7,500
22,500

25,000

5,000

bal

FOHQI DI S M XIS (EX)

0

=

150,000

75,000
75,000

150,000

307 2120l &

=

150,000

75,000
75,000

150,000

10 At2ISXEX

OZ OIS HE X &

150,000, 000

= H

150,000

150,000

75,000
75,000

150,000

= H

20,000

6,000
14,000

20,000

307 2120l &

=

20,000

6,000
14,000

20,000

10 At2ISXEX

OMItEM BREHEZ=R0IA

A
=

20,000,000&

= H

20,000

20,000

6,000
14,000

20,000

o

99,000

79,200
19,800

99,000

307 2120l &

o

99,000

79,200
19,800

99,000

10 At2I=SXEx

99,000

99,000
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=X

D HMWSXES(AMSISX/HSEAHSKR)

SRS RIE DDA L2

_ _ _ Muo
SA - EE L SR(E) - MRAY - HAS Aboy e HlnE2
OZZZAIZZEO0HC!N OFOFAL THAAM
99,000,000& 99,000
= 79,200
& 19,800
HOHQI & ot H X & 10,902,939 8,623,693 2,279,246
= 7,200,593
& 1,022,564
mi 3,750
Al 2,676,032
ZONOISTHEXIZ(EX) 575,586 567,834 7,752
= 402,910
L= 60,437
Al 112,239
307 212t01& 575,586 567,834 7,752
= 402,910
& 60,437
Al 112,239
10 AlRISXEX 575,586 567,834 7,752
OFOMOtsMHE X = (B2 H) 575,586,000 575,586
= 402,910
& 60,437
Al 112,239
ZONQIAMSIESTA(EX) 1,206,768 1,326,148 A 119,380
= 844,736
& 126,711
Al 235,321
307 212t01H 1,206,768 1,326, 148 A 119,380
= 844,736
& 126,711
Al 235,321
10 AtsIZ2XE X 1,206,768 1,326, 148 A 119,380
OZOMeIASI 2 S XA (HI2H)
1,206,768,000& 1,206,768
= 844,736
= 126,711
Al 235,321
NI SESXHYI R (BEX) 6,936 1,728 5,208
= 3,466
& 1,735
Al 1,735
301 LprtEaa 6,936 1,728 5,208
= 3,466
& 1,735
Al 1,735
01 AlSIEEE=5l3 6,936 1,728 5,208
OHMASELHHI XA 6,936,000 6,936
= 3,466
& 1,735
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SN
X XH .
S Tt

ol

Z=o1= X
SN RIEESS TN EE UL ES TEED
X 0H Q144 2 OFH X 2

== O

[l

SH M HA(FA) - HRAE -

HeS

[
2

=1
B
121

1,735

o —
2
1]
0z
2
e
ol
i
%
=
e
HL
FA

= Hn N

38,000
19,000

7,600
11,400

38,000

402 2Iz2tt=0ld

= HnH

38,000
19,000

7,600
11,400

38,000

O
O
=)
h

9
=
s
>
M
0 H
FA

2
e
I
Je
=
%
=
R

3,800,000& 107t

= Hn W

38,000

38,000
19,000

7,600
11,400

38,000

ZOHQIRHASHI X R (2 )

=MW

15,737
12,587
947
2,203

17,622

N 1,885

= Hn W

15,737
12,587
947
2,203

17,622

A 1,885

15,737,000&

= H W

15,737
15,737

12,587
947
2,203

17,622

A 1,885

= M

28,344

8,608
19,736

24,624

3,720

= M

28,344

8,608
19,736

24,624

3,720

28,344,000

= M

28,344

28,344

8,608
19,736

24,624

3,720

= HnH

17,588
14,071
1,055
2,462

17,630

N42

= H W

17,588
14,071
1,055
2,462

17,630

N2

_24_




SN OIS XD
B ZOHQI=XBE (MBS X /HLHEX )

CHOl: EOHQIA B QLN X| 2 (B9 &2
_ _ HE T
SA BB H(BH) - MBAY - B2 Ofl &F o4 il i~ o HRs2

01 APEI2EE 453 17,568 17,630 Ad2
SN IEESE L 17,568, 0002 7,568
=2 14,071
= 1,055
Al 2,462

OSSR (LF) 1,727,921 3,493,771 A 1,765,850
=2 1,208,852
= 155,418
Al 363,651

307 212+0| 1,727,921 3,493,771 A1,765,850
= 1,208,852
= 155,418
Al 363,651

01 ABUR2H| 1,727,921 3,493,771 A 1,765,850
OFMLL R 1,727,921,0002 1,727,921
=2 1,208,852
= 155,418
Al 363,651

ZO§QIO| 2 H| X8 (2 X) 278,937 200,664 78,273
= 223,149
= 16,737
Al 39,051

301 YR AS 278,937 200,664 78,273
= 223,149
= 16,737
Al 39,051

01 A2 EE 453 278,937 200,664 78,273
Oofelo 2H 278,937,0002 278,937
=2 223,149
= 16,737
Al 39,051

N TIEWREINEICES 158,862 89,326 69,536
= 79,431
= 23,829
Al 55,602

307 212H0I 158,862 89,326 69,536
= 79,431
= 23,829
Al 55,602

NIEEEES 158,862 89,326 69,536
OFOfOI= XL X2l X & 158,862,002 158,862
= 79,431
= 23,829
Al 55,602

N REEEEIV=PETCES 35,000 35,000 0
= 8,750
mi 3,750
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SN
D RN X B (AE =X /HAHEN)
X OH Q1A & OFE |

X ZH
S =

&

==X

== O

i

SNBSS - MEAY - BES

[
2

20
B
2

22,500

307 2120l &

= B

35,000
8,750
3,750

22,500

35,000

) 35,000,000&

= B

35,000

35,000
8,750
3,750

22,500

35,000

= HnH

411,255
205,627

71,970
133,658

292,415

118,840

101 1A 4]

= H W

411,255
205,627

71,970
133,658

292,415

118,840

04 JI2+HIZ
OZoqel

411,255,000&

= N W

411,255

411,255
205,627

71,970
133,658

292,415

118,840

= N W

752,974
527,080

67,769
158,125

752,974

307 21z2told

= HnH

752,974
527,080

67,769
158,125

752,974

752,974,000&

= HnH

752,974

752,974
527,080

67,769
158,125

752,974

=z HnH

5,617,831
3,637,844

467,722
1,512,265

2,107,396

3,510,435

307 2120l &

= H W

5,617,831
3,637,844

467,722
1,512,265

2,107,396

3,510,435

01 ¢

5,617,831,000&

5,617,831

5,617,831

2,107,396

3,510,435
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SN

==X

HE: BOjISXSE (MESX/HAHESTR)
Chl: OfOIMEOI NI (el &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 at il b o bRz
= 3,637,844
= 467,722
Al 1,512,265
LS B (2X) 31,200 14,400 16,800
2 21,840
= 3,276
Al 6,084
307 BI2HOI 31,200 14,400 16,800
2 21,840
= 3,276
Al 6,084
EESEES 31,200 14,400 16,800
OAl - HAZHOILDTHA 210/ LS X2 (B2
) 31,200,0002 31,200
2 21,840
= 3,276
Al 6,084
R SAZYI (==X ) (JIEHIIE) 73,340 62,780 10,560
JI2 2 (FRI= X D) 73,340 62,780 10,560
2N 2l 10,400 10,400 0
201 Lty 10,400 10,400 0
01 AR eIl 9,920 9,920 0
ORA2Y Yo2s| 3,620,000% 3,620
OSN2Y HALDEY 3,100,000%! 3,100
ORA2Y S| 3,200,0002! 3,200
2 222 480 480 0
ORAHESY B2R3 480,000%! 480
SRS 55,440 44,880 10,560
202 01t 55,440 44,880 10,560
01 2UhoiH| 55,440 44,880 10,560
OFQULEFOIH 20,0002 +212i 11U« 122 55,440
R =Y 7,500 7,500 0
203 YREAY| 7,500 7,500 0
01 IS YR =AY 3,300 3,300 0
O BSYARET (ZE) 3,300,0002! 3,300
04 ENRYAREAY| 4,200 4,200 0
ORNSIADLETI (F:16Y)
350, 00021+ 122 4,200
HEES(FUSXD)(ASSK /I ZHEST) 4,731,000 4,460,000 271,000
TESIEpES 4,731,000 4,460,000 271,000
JIEtEIH BB 4,731,000 4,460,000 271,000
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M EU= Y
PSS AN
(> |

el WRHHXNS

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
701 JIEIRI AN ES 4,731,000 4,460,000 271,000
01 JIEt2I HEE= 4,731,000 4,460,000 271,000
O 2=2Eg2H &= 4,731,000,000& 4,731,000
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